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HCF AND LCM
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Please watch the online classes and answer the following questions
https://youtu.be/qGbckXOp12o 
https://youtu.be/5mmuaosXxa8 
https://youtu.be/mevKK9-etPI
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1)HCF of 24,48,60? *

2)HCF of 13,11,7 *

3)HCF of 30,48,96? *

https://www.google.com/url?q=https://youtu.be/qGbckXOp12o&sa=D&ust=1585839298384000&usg=AFQjCNGc1won-QGJICVZhPOGQ-3CR--Myg
https://www.google.com/url?q=https://youtu.be/5mmuaosXxa8&sa=D&ust=1585839298385000&usg=AFQjCNH_pjDes4tT8k7EPua5dVauv6Gu8w
https://www.google.com/url?q=https://youtu.be/mevKK9-etPI&sa=D&ust=1585839298385000&usg=AFQjCNGmGtBy3nenqDeCwM4w1KfEcfUnKQ
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4) HCF of 13,11,17? *

5)LCM of 10,15? *

6) LCM of 8,12? *
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7)LCM of 2,3,8? *

8)LCM of 10,20,15? *

9) �nd the HCF of 24,48,60? *
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10)Fine the HCF of 90,162? *

11)Which is the smallest no when divided by 9 and 15 gives you the remainder 7? *

12)The LCM of two no's is 900 and their HCF is 15.if one of the number is 60 then
what will be the other one? *
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13) Find the highest number that is factor of 60 and 72 ? (HCF) *

14)Find the LCM of 24,36? *

15) What is the smallest number divisible by 8,9 and 12? *
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A. 120

B. 240

C. 360

D. 480

1 point

A. 196

B. 630

C. 1260

D. 2520

16)Find the LCM of 12,16? *

17)Find the lowest common multiple of 24, 36 and 40? *

18)What will be the least number which when doubled will be exactly divisible by 12,
18, 21 and 30 ? *
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A. 4
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A. 276

B. 299

C. 322

D. 345

19)Find the highest common factor of 36 and 84. *

20)Find the greatest number that will divide 43, 91 and 183 so as to leave the same
remainder in each case. *

21)The H.C.F. of two numbers is 23 and the other two factors of their L.C.M. are 13 and
14. The larger of the two numbers is? *
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A) 12

B) 16

C) 24

D) 48
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A) 330

B) 1980

C) 5940

D) 11880
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A) 99

B) 101

C) 176

D) 182

22)The ratio of two numbers is 3 : 4 and their H.C.F is 4. Their L.C.M is ? *

23)The L.C.M of 22, 54, 108, 135 and 198 is? *

24)Which of the following has the most number of divisors? *



1 point

A) 63 and 49

B) 64 and 48

C) 62 and 46

D) 64 and 49
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25)The di�erence of two numbers is 14. Their LCM and HCF are 441 and 7. Find the
two numbers ? *
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